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Executive Officer, Grade-I (Group-VII-A Services) In Tamil Nadu Hindu Religious and 
Charitable Endowments Subordinate Service – 6/01/2024 & 7/01/2024 

(Computer Based Test) 
 

1. Which is true of Scientific temper? 
a. open mindedness and intellectual honesty  b. keen observation 
c. intelligence and memory     d. appreciation of Science 
e. Answer not known 
,J mwptpay; kdepiyiag; nghWj;jtiu cz;ik 
a. jpwe;j kdg;ghd;ik kw;Wk; mwpTrhh; Neh;ik 
b. epfo;Tfisj; jPtpukhff; ftdpj;jy; 
c. Ez;zwpT kw;Wk; epidtfk; 
d. mwptpaiyg; ghuhl;Ljy; 
e. tpil njhpatpy;iy 
 

2. Match the following. 
A. Charles Darwin  1. Genetics 
B. Gregor Mendel  2. Evolution 
C. Robert Koch  3. Modern Microbiology 
D. Clande Bernard  4. Physiology 
 A B C D 
a. 2 1 3 4 
b. 2 3 1 4 
c. 3 1 4 2 
d. 3 4 1 2 
e. Answer not known 
nghUj;Jf. 
A. rhh;y]; lhh;tpd;  1. kugpay; 
B. fphpfh; nkz;ly;  2. ghpzhkk; 
C. uhgh;l; Nfhr;  3. etPd Ez;Zaphpay; 
D. fpshl; ngh;dhL  4. clw;nraypay; 
 A B C D 
a. 2 1 3 4 
b. 2 3 1 4 
c. 3 1 4 2 
d. 3 4 1 2 
e. tpil njhpatpy;iy 
 

3. Read the following passage and answer the question using your reasoning capacity: 
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The Spinal column is composed of Bones (Vertebrae) that are separated by Cartilaginous 
Pads  (Discs) that act as shock absorbers for the column. Nerves run through openings in 
the vertebral bones of the Spinal Cord to the periphery. These nerves run very close to 
the Discs, which is why protruding discs can cause pain along those nerves. 
 
In the above passage what is being explained? 
a. Structure of Backbones  
b. Discussing the Intervening Causal Mechanism 
c. The manner in which a protruding disc can cause nerve pain 
e. Answer not known 
gpd;tUk; gj;jpiag; gbj;J> mjw;fhd Nfs;tpf;F cq;fsJ gFj;jwpTj;jpwid 
cgNahfpj;J gjpyspf;fTk;: 
 
KJnfYk;G neLthpir vYk;Gfshy; (KJnfYk;Gfs;) cUthf;fg;gLfpwJ. mit 
neLthpirf;F mjph;r;rp cwpQ;rpfshf nray;gLk; FUj;njYk;G gl;ilfs; (b];f;Ffs;) 
%yk; gphpf;fg;gLfpd;wd. KJnfYk;gpd; KJnfYk;G vYk;Gfspy; cs;s Jisfs; topahf 
euk;Gfs; Rw;wstpy; nry;fpd;wd. ,e;j euk;Gfs; b];f;FfSf;F kpf mUfpy; ,aq;Ffpd;wd. 
mjdhy;jhd; jd;dplk; ePq;fp ePz;L nfhz;bUf;Fk; b];f;Ffs; ,e;j euk;GfSld; Nrh;e;J 
typia Vw;gLj;Jk;. 
NkNy cs;s gj;jpapy; vd;d tpsf;fg;gl;Ls;sJ? 
a. KJnfYk;Gfspd; mikg;G 
b. ,ilg;gl;l fhuzj;ijg; gw;wp tpthjpf;fpwJ. 
c. jd;dplk; ePq;fp ePz;L nry;Yk; tl;L> euk;G typia Vw;gLj;Jk; tpjk; 
d. KJnfYk;G tl;L xU tifahd mjph;r;rp cwpQ;rpahf nray;gLfpwJ 
e. tpil njhpatpy;iy 
 

4. Identify the condition of Chromosomal mutation which results in Down’s Syndrome. 
a. 2n+2 b. 2n+1 c. 2n-2  d. 2n-1 e. Answer not known 
‘lTd;rpd;Nuhk;’ Njhd;w FNuhNkhNrhkpy; Vw;gLk; gFjpkhw;w epiyia fz;Lgpbf;fTk;. 
a. 2n+2 b. 2n+1 c. 2n-2  d. 2n-1 e. tpil njhpatpy;iy 
 

5. Identify the Ammonifying bacterium 
a. Bacillus ramosus     b. Staphylococcus aureus 
c. Rhizobium leguminosarum   d. Streptococcus aureus 
e. Answer not known 
mNkhdpahf;Fjypy; <LgLk; ghf;Bhpaj;ij fz;Lgpbf;fTk;. 
a. Ngrpy;y]; uhNkhr];    b. ];nl/gpNyhNfhf;]; Mhpa]; 
c. iuNrhgpak; nyFkpNdhrhuk;   d. ];l;nug;Nlhfhf;f]; Mhpa]; 
e. tpil njhpatpy;iy 
 

6. Inculation of Scientific temper could be achieved except by 
(i) Asking Questions 
(ii) Reading Literatures 
(iii) Doing Experiments 
(iv) Memorising 
a. (i) only   b. (ii) only   c. (iii) only 
d. (iv) only   e. Answer not known 
mwptpay; kdg;ghd;ikia> fPo; cs;stw;wpy; vJ jtpu kw;wit GFj;j KbAk;? 
(i) Nfs;tpfs; Nfl;ly; 
(ii) Vw;fdNt ntspaplg;gl;l mwptpay; jfty;fisg; gbj;jy; 
(iii) Nrhjidfs; nra;jy; 
(iv) kdg;ghlk; nra;jy; 
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a. (i) kl;Lk;   b. (ii) kl;Lk;   c. (iii) kl;Lk; 
d. (iv) kl;Lk;   e. tpil njhpatpy;iy 
 

7. Which of the following is/are correct? 
In Nuclear Reactors the materials used as moderators have 
(1) High Atomic Weight 
(2) High Absorption cross section for Neutrons 
(3) Low Atomic Weight 
(4) Low Absorption cross section for Neutrons 
a. (3) and (4) only correct  b. (3) only correct  c. (1) and (2) only correct 
d. (1) and (4) only correct  e. Answer not known 
fPo;f;fhz;gtw;Ws; vJ/vit rhpahdJ? mZf;fU ciyfspy; epA+l;uhd; kl;Lg;gLj;jp / 
jzpg;ghd;fshf nray;gLk; jdpkq;fs; vj;jifa jd;ikia nfhz;bUf;f Ntz;Lk;? 
1. mjpf mZ vil nfhz;lit 
2. epA+l;uhid cl;ftUk; FWf;F ntl;Lg;gug;G mjpfk; nfhz;lit 
3. Fiwe;j mZ vil nfhz;lit 
4. epA+l;uhid cl;ftUk; FWf;Fntl;Lg; gug;G Fiwe;j msT nfhz;lit  
a. (3) kw;Wk; (4) kl;Lk; rhp    b. (3) kl;Lk; rhp 
c. (1) kw;Wk; (2) kl;Lk; rhp    d. (1) kw;Wk; (4) kl;Lk; rhp 
e. tpil njhpatpy;iy 
 

8. Who describe Gopal Krishna Gokhale as the ‘Diamond of India’, the ‘Jewel of 
Maharashtra’ and the ‘Prince of Workers’ 
a. Mahatma Gandhi   b. Lala Lajput Rai  c. Jawaharlal Nehru 
d. Bala Gangadhar Tilak  e. Answer not known 
Nfhghy fpU~;z NfhfNyit> ‘,e;jpahtpd; ituk;’> ‘kfhuh~;buhtpd; mzpfyd;’ kw;Wk; 
‘njhopyhsh;fspd; ,sturd;’ vd;W Gfo;e;jth;. 
a. kfhj;kh fhe;jp   b. yhyh y[gjp uha; c. [tfh;yhy; NeU 
d. ghy fq;fhju jpyfh;  e. tpil njhpatpy;iy 
 

9. Which of the following statements are true about smoke free environment bill of 
Newzealand? 
(i) Legislation was passed on December 2022 
(ii) Anyone born after 2008 will never be able to buy cigarettes or tobacco products 
(iii) Nicotine levels in tobacco products to be reduced. 
a. (i) only    b. (i) and (iii) only  c. (ii) and (iii) only 
d. (i), (ii) and (iii)   e. Answer not known 
epA+rpyhe;jpd; Gifapy;yh Rw;Wr;#oy; kNrhjhitg; gw;wpa gpd;tUk; $w;Wfspy; vit 
cz;ikahdit? 
(i) rl;lk; brk;gh;> 2022y; epiwNtwpaJ 
(ii) 2008f;F gpwF gpwe;jth;fs; xUNghJk; rpfnul; my;yJ Gifapiy nghUl;fis 

thq;f KbahJ 
(iii) Gifapiy jahhpg;Gfspy; epNfhbd; msT Fiwf;fg;gl Ntz;Lk; 
a. (i) kl;Lk;      b. (i) kw;Wk; (iii) kl;Lk; 
c. (ii) kw;Wk; (iii) kl;Lk;    d. (i), (ii) kw;Wk; (iii) 
e. tpil njhpatpy;iy 
 

10. Which State has exported locally grown ‘Birds Eye Chilli’ or ‘Thai Chilli’ to the USA? 
a. Andhra Pradesh   b. Mizoram   c. Telegana 
d. Maharastra   e. Answer not known 



 

4 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     http://www.appolosupport.com/ 

 

ve;j khepyk; cs;ehl;by; tpisAk; ‘gwitfs; fz; kpsfha;’ my;yJ ‘jha; kpsfhia’ 
mnkhpf;fhtpw;F Vw;Wkjp nra;Js;sJ? 
a. Me;jpug; gpuNjrk;   b. kpNrhuhk;  c. njYq;fhdh 
d. k`huh~;buh   e. tpil njhpatpy;iy 
 

11. How the gravitational waves are formed? 
a. From a collision between two black holes 
b. From a collision between two galaxies 
c. From a collision between two stars 
d. From a collision between two planets 
e. Answer not known 
<h;g;G miyfs; vt;thW cUthfpd;wd? 
a. ,uz;L fUj;JisfSf;F ,ilapyhd Nkhjypy; ,Ue;J 
b. ,uz;L tpz;kPd; jpus;fSf;F ,ilapyhd Nkhjypy; ,Ue;J 
c. ,uz;L el;rj;jpuq;fSf;F ,ilapyhd Nkhjypy; ,Ue;J 
d. ,uz;L fpufq;fSf;F ,ilapyhd Nkhjypy; ,Ue;J 
e. tpil njhpatpy;iy 
 

12. What is the atomic number and mass number of recently discovered isotope of uranium 
discovered by Japan physicists? 
a. 240, 92 b. 92, 241 c. 90, 241 d. 241, 91 e. Answer not known 
[g;ghdpa ,aw;gpayhsh;fshy; rkPgj;jpy; fz;Lgpbf;fg;gl;l ANudpak; INrhNlhg;gpd; mZ 
vz; kw;Wk; epiw vz; vd;d? 
a. 240, 92 b. 92, 241 c. 90, 241 d. 241, 91 e. tpil njhpatpy;iy 
 

13. Within how many days of the date of formation of a political party an application has to 
be put up before the Election Commission of India for getting it registeres? 
a. 30 days b. 60 days c. 90 days d. 180 days e. Answer not known 
xU murpay; fl;rp Njhw;Wtpf;fg;gl;l vj;jid ehl;fSf;Fs; ,e;jpaj; Njh;jy; 
Mizaj;jpl;lk; gjpThpik ngWtjw;fhf tpz;zg;gpj;jpUf;f Ntz;Lk;. 
a. 30 ehl;fs;    b. 60 ehl;fs;   c. 90 ehl;fs; 
d. 180 ehl;fs;   e. tpil njhpatpy;iy 
 

14. In June 2022 _____ movement was launched in Tamil Nadu “to clean up the cities and 
make them garbage free”. 
a. The cleanliness campaign   b. The clean people’s movement 

c. The clean cities movement   d. The clean garbage movement 
e. Answer not known 
[_d; 2022 ,y; _____ efuq;fspy; Rj;jk; nra;tjw;Fk; mtw;iw Fg;igfs; ,y;yh gFjpahf;f 
jkpo; ehl;by; ,af;fk; njhlq;fg;gl;lJ. 
a. J}a;ik gpur;rhuk;     b. J}a;ikf;fhd kf;fs; ,af;fk; 
c. J}a;ikahd efuq;fs; ,af;fk;   d. Fg;igfs; mw;w ,af;fk; 
e. tpil njhpatpy;iy 
 

15. The Finance Ministry through its office issued detailed guidelines to states for the 
construction of 
a. Sports University   b. Unity Mall  c. Research Centre 
d. Skill Development Centre e. Answer not known 
epjp mikr;rfj;jpd; nrytpd JiwahdJ vij Vw;gLj;Jtjw;F tphpthd topfhl;L 
newpKiwfis khepyq;fSf;F toq;fpAs;sJ. 
a. tpisahl;Lg; gy;fiyfofk;   b. xw;Wik tzpf tshfk; 
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c. Muha;r;rp ikak;     d. jpwd; tsh;r;rp ikak; 
e. tpil njhpatpy;iy 
 

16. Which among the following are the least producer of tobacco in India? 
a. Andhra Pradesh  b. Karnataka   c. Tamil Nadu 
d. Bihar   e. Answer not known 
gpd;tUtdtw;wpy;> ,e;jpahtpy; kpff; Fiwthd Gifapiy cw;gj;jpahsh;fs;  
a. Me;jpug; gpuNjrk;  b. fh;ehlfh   c. jkpo;ehL 
d. gPfhh;   e. tpil njhpatpy;iy 
 

17. The biodegradation process, breaks down biomass either in the presence of aerobic 
respiration or anaerobic respiration. 

2(CH2O) → CO2(g) + CH4(g) 
The above equation represents 
a. Biodegradation process  b. Aerobic process  c. Anaerobic process 

d. Photosynthesis   e. Answer not known 
caph;r; rpijT nray;Kiw> fhw;Wepiy Rthrk; my;yJ fhw;wpy;yh Rthrk; Mfpatw;wpd; 
Kd;dpiyapy; caph;g;nghUis cilf;fpwJ. 
2(CH2O) → CO2(g) + CH4(g) 
NkNy cs;s rkd;ghL Fwpg;gJ 
a. caph;r; rpijT nray;Kiw    b. fhw;Wepiy nray;Kiw 
c. fhw;wpy;yh nray;Kiw     d. xspr;Nrh;f;if 
e. tpil njhpatpy;iy 
 

18. Match correctly the vegetation type and Average annual rainfall (in cm). 
Vegetation type  Average Annual rainfall (in cm) 
A. Evergreen forests 1. Above 200 cm. 
B. Monsoon forests  2. 100 – 200 cm. 
C. Dry forests  3. 50 – 100 cm. 
D. Desert forests  4. Below 50 cm. 
 A B C D 
a. 1 2 3 4 
b. 2 4 1 3 
c. 4 2 1 3 
d. 1 4 3 2 
e. Answer not known 
jhtu tif kw;Wk; ruhrhp Mz;L kiog;nghopit (nr.kPl;lh;) rhpahfg; nghUj;Jf. 
jhtu tiffs;  ruhrhp Mz;L kiog;nghopT (nr.kP) 
A. gRik khwhf;fhLfs; 1. 200 nr.kPl;lUf;F Nky; 
B. gUtkiof; fhLfs; 2. 100 – 200 nr.kP 
C. twz;lf; fhLfs;  3. 50 – 100 nr.kP 
D. ghiytd fhLfs; 4. 50 nr.kPl;lUf;Fk; Fiwthf 
 A B C D 
a. 1 2 3 4 
b. 2 4 1 3 
c. 4 2 1 3 
d. 1 4 3 2 
e. tpil njhpatpy;iy 
 

19. Reason and Assertion type 
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Assertion [A]: North Indian Rivers are perennial 
Reason [R]:  They have water throughout the year. 
a. [A] is true but [R] is false 
b. Both [A] and [R] are true 
c. [A] is false, [R] is true 
d. Both [A] and [R] are true but [R] is not correct explanation of [A] 
e. Answer not known 
$w;W kw;Wk; fhuzk; tif 
$w;W [A]: tl ,e;jpahtpy; fhzg;gLk; MWfs; tw;whjit. 
fhuzk; [R]:  ,t;thWfs; tUlk; KOtJk; ePiug; ngw;W ,Uf;fpd;wd. 
a. [A] rhp Mdhy; [R] jtW 
b. [A] kw;Wk; [R] rhp 
c. [A] jtW [R] rhp 
d. [A] kw;Wk; [R] rhp> Mdhy; [R] vd;gJ [A] f;F rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy 
 

20. In India, the Himalayas are divided into ____ ranges. 
a. Two parallel  b. Three parallel  c. Four Parallel 
d. Six parallel  e. Answer not known 
,e;jpahtpy; cs;s ,kakiy _____ Mf gphpf;fg;gl;Ls;sd. 
a. ,uz;L ,izfs;  b. %d;W ,izfs;  c. ehd;F ,izfs; 
d. MW ,izfs;  e. tpil njhpatpy;iy 
 

21. Due to the efforts made by _____, the Government passed the Native Marriage Act in 
1872 A.D. 
a. Shripad Banerji   b. Keshava Chandra Sen c. Raja Ram Mohan Roy 
d. Ishwar Chandra Vidyasagar e. Answer not known 
_____ Nkw;nfhz;l Kaw;rpapd; fhuzkhf fp.gp. 1872-y; G+h;tpf jpUkzr; rl;lj;ij muR 
,aw;wpaJ. 
a. =ghj; ghdh;[p   b. Nf~;t re;jpu nrd; c. uh[h uhk; Nkhfd; uha; 
d. <];th; re;jpu tpj;ahrhfh; e. tpil njhpatpy;iy 
 

22. Which is the most important reason to consider India as a secular state? 
a. Government works for the welfare of people of all religions 
b. Minority religions are given special protection 
c. Peoples of different religions live in India 
d. Religion is separated from politics  
e. Answer not known 
,e;jpah kjrhh;gw;w ehL vd $Wtjw;F vJ Kf;fpa fhuzk;? 
a. midj;J kjj;jpdUf;Fk; murhq;f Ntiy 
b. kj rpWghd;ikapdUf;F rpwg;G ghJfhg;G 
c. gy;NtW kjj;ij rhh;e;j kf;fs; ,e;jpahtpy; trpf;fpd;whh;fs; 
d. kjk; vd;gJ murpaypy; ,Ue;J gphpj;J itf;fg;gl;Ls;sJ 
e. tpil njhpatpy;iy 
 

23. Who worked as the Chief Engineer of the Mullaiperiyar Dam in 1895? 
a. Paul Benfield  b. Edward Lutyens  c. Colonel John Pennycuick 

d. Col. James. A. Fuller e. Answer not known 
1895-k; Mz;L fl;lg;gl;l Ky;iy nghpahh; mizapd; jiyik nghwpahsh; ahh;? 
a. ghy; ngd;/gpy;L  b. vl;th;L Yl;bad;]; c. fh;dy; [hd; ngd;dpFtpf; 
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d. fh;dy;. N[k;];.m./Gy;yh; e. tpil njhpatpy;iy 
 

24. Which tree was considered as supreme deity during the Indus Valley Civilization? 
a. Banyan  b. Neem c. Palm d. Pipal e. Answer not known 
rpe;J rkntsp ehfhPfj;jpd; NghJ ve;j kuk; cr;r nja;tkhf fUjg;gl;lJ? 
a. Mykuk;   b. Ntg;gkuk;   c. gid kuk; 
d. murkuk;   e. tpil njhpatpy;iy 
 

25. Which of the following statements are true about ‘EK Bharat Shreshtha Bharat’ 
(i) It was announced on the occasion of the 140th birth anniversary of ‘Sardar 

Vallabhai Patel’. 
(ii) The objective was to celebrate the unity in diversity of our nation. 
(iii) To create an environment to learn the best practices of other countries. 
a. (i)only   b. (i) and (iii) only  c. (i) and (ii) only 

d. (ii) and (iii) only  e. Answer not known 
gpd;tUtdtw;Ws; ‘Vf; ghuj; ~;Nu];jh ghuj;’ jpl;lk; gw;wpa $w;W rhpahdJ. 
(i) rh;jhh; ty;ygha; gNlypd; 140-tJ gpwe;j ehs; md;W mwptpf;fg;gl;lJ. 
(ii) ekJ Njrj;jpd; xw;Wik kw;Wk; gd;Kfj;jd;ikiaf; nfhz;lhLtNj ,jd; 

Fwpf;Nfhs;. 
(iii) kw;w ehLfspd; rpwe;j eilKiwfisf; fw;Wf;nfhs;tjw;fhd #oiy 

cUthf;Fjy;. 
a. (i) kl;Lk;   b. (i) kw;Wk; (iii) kl;Lk; c. (i) kw;Wk; (ii) kl;Lk; 
d. (ii) kw;Wk; (iii) kl;Lk; e. tpil njhpatpy;iy 
 

26. Which Mughal Prince album is still preserved in the library of the Indian office at 
London? 
a. Jawan Bakht  b. Azam shah  c. Bahadur shah zafar 
d. Darasukoh  e. Answer not known 
ve;j nkhfyha ,sturhpd; glj;njhFg;G ,d;Wk; yz;ldpy; cs;s ,e;jpa mYtyf 
E}yfj;jpy; ghJfhg;ghf itf;fg;gl;Ls;sJ? 
a. [thd; gf;j;  b. mrhk; ~h   c. gfJ}h; ~h [hgh; 
d. jhuhRf;Nfh  e. tpil njhpatpy;iy 
 

27. The Bahmani Sultan’s kept his personal bodyguards called the 
a. Khas-i-khel  b. Amir-ul-Umra  c. Kiledars 
d. Mansabs   e. Answer not known 
ghkpdp Ry;jhd;fs; ____ vd miof;fg;gLk; jkJ jdpg;gl;l nka;f;fhg;ghsh;fis 
itj;jpUe;jdh;. 
a. fh];-I-Nfy;  b. mkPh;-cy;-ck;uh  c. fpNyhjh;fs; 
d. khd;rhg;fs;  e. tpil njhpatpy;iy 

 
28. Which of the following inscriptions belong to Samudragupta? 

I. Allahabad pillar Inscription 
II. Nalanda copper plate 
III. Eran stone Inscription 
IV. Mehruauli pillar Inscription 
a. I, II, III and IV   b. I, II and IV   c. I, II and III 

d. I, III and IV   e. Answer not known 
fPo;f;fz;ltw;Ws; rKj;jpu Fg;jh; fhyj;ijr; rhh;e;j fy;ntl;Lfs; vit? 
I. myfhghj; J}z; fy;ntl;Lfs; 
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II. ehse;jhr; nrg;Gg; gl;lak; 
III. <uhd; fy;ntl;Lfs; 
IV. nkf;uyp J}z; fy;ntl;Lfs; 
a. I, II, III kw;Wk; IV   b. I, II kw;Wk; IV   c. I, II kw;Wk; III 

d. I, III kw;Wk; IV   e. tpil njhpatpy;iy 
 

29. Arrange the following committees in chronological order. 
1. Ashok Mehta Committee 
2. GVK Rao Committee 
3. L.M. Singhvi Committee 
4. Balwant Rai Mehta Committee 
a. 4, 1, 2, 3   b. 3, 4, 2, 1   c. 2, 1, 4, 3 
d. 4, 3, 2, 1   e. Answer not known 
fPo;tUtdtw;iw mit mikf;fg;gl;l Mz;bd; mbg;gilapy; thpirg;gLj;Jf 
1. mNrhf; Nkj;jh FO 
2. GVK uht; FO 
3. L.M. rpq;tp FO 
4. gy;te;j; uha; Nkj;jh FO 
a. 4, 1, 2, 3   b. 3, 4, 2, 1   c. 2, 1, 4, 3 
d. 4, 3, 2, 1   e. tpil njhpatpy;iy 
 

30. Which of the following does not come under the subordinate courts of the states? 
a. Criminal courts   b. Consumer courts  c. Civil courts 
d. Revenue courts   e. Answer not known 
khepyq;fspy; gpd;tUtdtw;Ws; vJ Jiz ePjpkd;wq;fspd; fPo; tUtjpy;iy? 
a. Fw;wtpay; ePjpkd;wq;fs;  b. Efh;Nthh; ePjpkd;wq;fs; c. Fbik ePjpkd;wq;fs; 
d. tUtha; ePjpkd;wq;fs;  e. tpil njhpatpy;iy 
 

31. With respect to the 9th schedule of the Indian constitution, which of the following 
statements are not correct? 
a. 9th schedule is an unusual feature of the constitution 
b. About 300 Acts are listed in the 9th schedule 
c. Art. 31 declares that all the acts under 9th schedule are not immune from judicial 

review 
d. Acts of the 9th schedule are not immune to judicial review on the ground of 

violation of a fundamental right 
e. Answer not known 
9tJ ml;ltiziag; gw;wpa fPo;f;fhzg;gLk; thf;fpaq;fspy; vJ/vit jtwhdJ/it? 
a. 9tJ ml;ltiz ek; murpay; mikg;G rhrdj;jpd; mrhjhuz mk;rk; 
b. 9tJ ml;ltizapy; fpl;ljl;l 300 rl;lq;fs; gl;bayplg;gl;Ls;sd. 
c. murpayikg;G rl;l tpjp 31d; gb 9 tJ ml;ltizapy; cs;s midj;J rl;lq;fSk; 

ePjp Gduha;tpw;F cl;glhJ vd;W njhptpf;fpd;wJ. 
d. mbg;gil chpik kPwy;fSf;F> 9 tJ ml;ltizapd; rl;lq;fs; ePjpGduha;tpw;F 

cl;glhJ 
e. tpil njhpatpy;iy 
 

32. The representation of the people Act of 1951, as amended in 2010 gives voting rights to 
a. All the Indian citizens    b. Migrants from other nations 
c. People deported from India   d. Overseas Indian passport holders 
e. Answer not known 
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2010 y; jpUj;jg;gl;l 1951 Mk; Mz;bd; kf;fs; gpujpepjpj;Jtk; Fwpj;j rl;lk; _____ f;F 
thf;fspf;Fk; chpikia toq;FfpwJ. 
a. midj;J ,e;jpa Fbkf;fSf;Fk; 
b. gpw ehLfspy; ,Ue;J FbNawpath;fs; 
c. ,e;jpahtpy; ,Ue;J ehLflj;jg;gl;l 
d. ntspehLfspy; cs;s ,e;jpa gh];Nghh;l; itj;jpUg;gth;fs; 
e. tpil njhpatpy;iy 

 
33. In the Indian parliament, who decides whether a bill is a money bill or non-money bill 

a. President      b. Chairman of Rajya Sabha  
c. The Speaker     d. Deputy chairman of Rajya Sabha 
e. Answer not known 
,e;jpa ehlhSkd;wj;jpy; kNrhjhit epjp kNrhjh my;yJ rhjhuz kNrhjh vd KbT 
nra;tJ ahh;? 
a. FbauR jiyth;     b. ,uh[;a rigapd; jiyth; 
c. rgh ehafh;     d. ,uh[;a rigapd; Jiz jiyth; 
e. tpil njhpatpy;iy 
 

34. Article 360 of the Indian constitution deals about 
a. National emergency  b. State emergency  c. Financial emergency 

d. Judicial emergency  e. Answer not known 
,e;jpa murpayikg;gpd; 360tJ tpjpahdJ vjidg; gw;wp Fwpg;gpLfpwJ? 
a. Njrpa mtru epiy  b. khepy mtru epiy c. epjp mtru epiy 
d. ePjpj;Jiw mtru epiy  e. tpil njhpatpy;iy 
 

35. Which committee recommends the establishment of a judicial tribunal in each state to 
adjudicate controversies about election of Panchayat Raj institutions 
a. Balwant Raj Mahta  b. L.M. Singhvi  c. V.R. Rao 
d. P.K. Thungon   e. Answer not known 
gQ;rhaj;Juh[; Njh;jy; njhlh;ghf rh;r;irfis jPh;g;gjw;F xt;nthU khepyj;jpYk; 
ePjpj;Jiw jPh;g;ghaj;ij ghpe;Jiu nra;j FO vJ? 
a. gy;te;j;uha; Nkj;jh  b. L.M. rpq;tp   c. V.R. uht; 
d. P.K. Jq;fd;   e. tpil njhpatpy;iy 
 

36. Name the chief Justice of India who acted as president of India, when the offices of 
president and vice president fell vacant 
a. Justice K.N. Wanchou     b. Justice M. Hidayatullah 

c. Justice Y.V. Chandrachud    d. Justice B.P. Sinha 
e. Answer not known 
FbauR jiyth; kw;Wk; Jiz FbauR jiyth; gjtpfis ahUk; tfpf;fhj xU #oypy;> 
FbauRj; jiytuhf gjtp tfpj;j> ,e;jpa jiyik ePjpgjp ahh;? 
a. ePjpgjp K.V. thd;r;#    b. ePjpgjp M. `pjaJy;yh 
c. ePjpgjp Y.V. re;jpu#l;    d. ePjpgjp B.P. rpd;fh 
e. tpil njhpatpy;iy 
 

37. Assertion [A]: Effective economic development depends on ‘Planning for 
    development’. 
Reason [R]:  It has become imperative on the part of modern Government to have 
    a planning body for economic development. 
a. [A] is true, but [R] is false 
b. Both [A] and [R] are true; and [R] is the correct explanation of [A]. 
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c. [A] is false, [R] is true 
d. Both [A] and [R] are true, and [R] is not the correct explanation of [A] is correct 
e. Answer not known 
$w;W [A]: gaDs;s nghUshjhu tsh;r;rp vd;gJ tsh;r;rpf;fhd jpl;lkpliyg; 
   nghWj;jJ. 
fhuzk; [R]: nghUshjhu Nkk;ghl;bw;fhd jpl;lkply; mikg;igf; nfhz;bUg;gJ etPd  

murhq;fj;jpd; jug;gpy; fl;lhakhfptpl;lJ.  
a. [A] rhp Mdhy; [R] jtW 
b. [A] kw;Wk; [R] ,uz;Lk; rhp kw;Wk; [R] vd;gJ -f;fhd rhpahd tpsf;fkhFk;. 
c. [A] jtW> [R] vd;gJ rhp 
d. [A] kw;Wk; [R] ,uz;Lk; rhp kw;Wk; [R] vd;gJ [A] f;fhd rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy 
 

38. Which type of unemployment is included in full employment? 
a. Disguised    b. Structural   c. Technological 
d. Frictional    e. Answer not known 
NtiyepiwT epiy vd;gJ vt;tifahd Ntiyapd;ikia cs;slf;fpaJ? 
a. kiwKf Ntiyapd;ik    b. fl;likg;G Ntiyapd;ik 
c. njhopy; El;g Ntiyapd;ik   d. gpwo;r;rp fhy Ntiyapd;ik 
e. tpil njhpatpy;iy 
 

39. The components of Evergreen Revolution are 
(1) Produce more using fewer resources 
(2) Using renewable sources of energy 
(3) Maintaining environment for soil health 
(4) Prevention of land subdivision 
a. 1, 2, 3 only   b. 2, 3, 4 only   c. 1, 3, 4 only 
d. 2, 1, 4 only   e. Answer not known  
ePbj;j epiyf;Fk; gRikg;Gul;rpapd; cl;fUj;Jfs; 
(1) Fiwe;j ,LnghUl;fspy; mjpf cw;gj;jp 
(2) GJg;gpf;fj;jf;f rf;jp gad;ghL 
(3) kz;tsk; ghJfhf;f Rw;Wr;#oiy NgZjy; 
(4) epyk; Jz;lhlg;gLtijj; jLj;jy; 
a. 1, 2, 3 kl;Lk;  b. 2, 3, 4 kl;Lk;  c. 1, 3, 4 kl;Lk; 
d. 2, 1, 4 kl;Lk;  e. tpil njhpatpy;iy 
 

40. The _____ Committee's main function is to examine the appropriation of sums granted 
by the Parliament for the expenditure of the Government of India. 
a. Public Accounts Committee    b. The Estimates Committee 
c. The Committee on Public Undertaking  d. Budget Committee 
e. Answer not known 
_____ FOtpd; Kf;fpa gzp vd;gJ ,e;jpa murhq;fr; nryTf;fhf ghuhSkd;wj;jhy; 
xJf;fg;gl;l epjpfis Ma;T nra;tjhFk;. 
a. nghJf; fzf;Ff; FO     b. kjpg;gPl;Lf; FO 
c. nghJj;JiwfSf;fhd FO    d. tuT nryT jpl;lf; FO 
e. tpil njhpatpy;iy 
 

41. Which of the following is not a feature of GST? 
a. tax on supply of goods and services 
b. single tax 
c. input tax credit is available 



 

11 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     http://www.appolosupport.com/ 

 

d. no GST on manufacturers on raw material 
e. Answer not known 
gpd;tUgdtw;Ws; vJ ruf;F kw;Wk; Nrit thpapd; ,ay;G ,y;iy? 
a. ,J nghUs;fs; kw;Wk; Nritfspd; mspg;gpd; kPJ tpjpf;fg;gLfpwJ. 
b. ,J xUKid thpahFk; 
c. cs;sPLfspd; kPjhd thp tuT ,jpy; cs;sJ 
d. jahhpg;ghsh;fs; thq;Fk; %yg;nghUs; kPJ thp fpilahJ 
e. tpil njhpatpy;iy 
 

42. If the RBI wishes to practice cheap money policy, it may leads to 
a. Self-Government securities  
b. raise bank's required reserve ratios 
c. lower the bank rate 
d. discourage member banks from borrowing from the RBI 
e. Answer not known 
,e;jpa hprh;t; tq;fp kypT gzf;nfhs;ifia gpd;gw;w KbntLj;jhy; mjd; tpisthf 
a. murpd; gj;jpuq;fis tpw;gid nra;Ak; 
b. tq;fpfspd; ,Ug;Gj;njhif tPjj;ij mjpfhpf;Fk; 
c. tq;fp tl;b tPjj;ijf; Fiwf;Fk; 
d. tq;fpfs; hprh;t; tq;fpaplk; fld; ngWtij fl;Lg;gLj;Jk; 
e. tpil njhpatpy;iy 
 

43. Who decide, production, distribution and decision in a Socialist pattern of Economy? 
a. Market      b. Central Planning Commission 

c. Behaviours and traditional activities  d. Private sector 
e. Answer not known 
xU rkjh;kg; nghUshjhu mikg;gpy; cw;gj;jp> gfph;T kw;Wk; jPh;Tfis KbT nra;tJ 
vit? 
a. re;ij      b. kj;jpa jpl;lf;FO 
c. gof;f tof;fKk;> kuGfSk;   d. jdpahh; Jiw 
e. tpil njhpatpy;iy 
 

44. (i) The Indian National Congress was founded during the British colonial times in A.D. 
1885 
(ii) The founders included Allan Octavian Hume, Dadabhai Naoroji and Dinshaw Wacha 
(iii) This became a pivotal participant in the Indian Economic movement 
Which of the above statements/s is/are true? 
a. (i) and (iii) only   b. (ii) and (iii) only  c. (iii) and (ii) only 
d. (i) and (ii) only   e. Answer not known 
(i) ,e;jpa Njrpa fhq;fpu]; fp.gp. 1885 ,y; gphpl;b~; fhydpj;Jt fhyj;jpy; epWtg;gl;lJ 
(ii) ,jd; epWtdh;fspy; Myd; Mf;Nltpad; `pA+k;> jhjhgha; nesNuh[p kw;Wk; jPd;~h 

thr;rh MfpNahh; mlq;Fth; 
(iii) ,J ,e;jpag; nghUshjhu ,af;fj;jpy; xU Kf;fpa gq;Nfw;ghsuhf khwpaJ  
NkNy fhzg;gLk; $w;Wfspy; rhpahdJ/it vJ/vit? 
a. (i) kw;Wk; (iii) kl;Lk;    b. (ii) kw;Wk; (iii) kl;Lk; 
c. (iii) kw;Wk; (ii) kl;Lk;    d. (i) kw;Wk; (ii) kl;Lk; 
e. tpil njhpatpy;iy 
 
 

45. Rajaram Mohan Roy was a strict believer of 
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a. Atheism   b. Monotheism  c. Mormonism 
d. Polytheism  e. Answer not known 
,uh[h uhk; Nkhfd; uha; mth;fs; _____ nfhs;ifapy; jPtpu ek;gpf;if nfhz;ltuhf 
,Ue;jhh;. 
a. ehj;jpfk;   b. Xhpiwf; nfhs;if c. kWrPuikg;G ,af;fk; 
d. gynja;t topghL e. tpil njhpatpy;iy 
 

46. Regarding the partition of India, which of the following statements are true? 
1. The congress accepted the partition. 
2. Mountbatten put his plan for the partition of India on June 2nd 1947. 
3. The Act of 1947 provided for the creation of two independent dominions. 
a. 1 only   b. 2 only   c. Both 1 and 2 
d. 1, 2 and 3   e. Answer not known 
,e;jpa gphptpidj; njhlh;ghf gpd;tUk; thf;fpaq;fspy; vit rhpahdit? 
1. gphptpidiaf; fhq;fpu]; mq;fPfhpj;jJ 
2. nksd;l;Ngl;ld; ,e;jpag; gphptpidj; jpl;lj;jpid [_d; 2> 1947y; tFj;jhh; 
3. 1947k; Mz;Lr; rl;lk; ,uz;L Rje;jpu ehLfis cUthf;f top nra;jJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2  
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 
 

47. How many Satyagrahis were participated in the Vedaranyam March under Rajaji in 
Tamilnadu? 
a. 90  b. 95  c. 98  d. 100  e. Answer not known 
jkpo;ehl;by; ,uh[h[p jiyikapd; fPo; eilngw;w Ntjhuz;ak; eilapd; NghJ fye;J 
nfhz;l rj;jpafpufpfs; vj;jid Ngh;? 
a. 90  b. 95  c. 98  d. 100  e. tpil njhpatpy;iy 
 

48. Who renamed Andaman and Nicobar Islands as Shaheed and Swaraj islands 
respectively? 
a. Sohan singh Bhakna  b. Rashbihari Bose  c. Satyendranath Bose 
d. Subash Chandra Bose  e. Answer not known 
me;jkhd; kw;Wk; epNfhghh; jPTfis KiwNa ~`pj; kw;Wk; ];tuh[; vd ngah; khw;wk; 
nra;jJ ahh;? 
a. Nrh`d; rpq; gf;dh  b. uh~;gp`hhp Ngh]; c. rj;Nae;jpuehj; Ngh]; 
d. Rgh~; re;jpu Ngh];  e. tpil njhpatpy;iy 
 

49. Rabindranath early writings were published in the family magazines called 
a. Lotus   b. Nature   c. Sun 
d. Bharati   e. Answer not known 
,utpe;jpuehj; jdJ Jtf;f fhy vOj;J gjpTfis FLk;g ,jopNy ntspapl;Ls;shh; 
mt;tpjo; ____ vd miof;fg;gl;lJ. 
a. jhkiu   b. ,aw;if   c. #hpad; 
d. ghujp   e. tpil njhpatpy;iy 
 

50. Which of the following are correctly matched? 
Founder personalities associated with Swadeshi movement of British India 
1. Swadeshivastu pracharini sabha - Lokmanya Bal Gangadhar Tilak 
2. Swadeshi Sangam    - Subramania Bharathi 
3. Swadeshi Steam Navigation company - V.O. Chidambaram 
4. Swadesh Bandhab smiti   - G. Subramanian 
a. 1, 2 and 3   b. 2 and 4   c. 3 and 4 
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d. 1 and 4   e. Answer not known 
rhpahdtw;iwg; nghUj;Jf. 
gphpl;b~; ,e;jpahtpd; RNjrp ,af;fj;Jld; njhlh;Gila MSikfs; 
1. RNjrpt];J gpurhhpdp rgh  - Nyhfkhd;a ghy fq;fhju jpyf; 
2. RNjrp rq;fk;    - Rg;ukzpa ghujp 
3. RNjrp ];bk; NetpNf~d; epWtdk; - V.O. rpjk;guk; 
4. RNjrp gz;l;fg; rkpjp   - G. Rg;ukzpad; 
a. 1> 2 kw;Wk; 3   b. 2 kw;Wk; 4   c. 3 kw;Wk; 4 
d. 1 kw;Wk; 4    e. tpil njhpatpy;iy 

 
51. Who started the Journal namely `Malai Mani'? 

a. Annadurai    b. E.V. Ramasamy  c. Karunanithi 
d. M.G. Ramachandran  e. Answer not known 
‘khiy kzp’ vd;w gj;jphpf;ifia Muk;gpj;jth; ahh;? 
a. mz;zh Jiu   b. <.nt. uhkrhkp  c. fUzhepjp 
d. vk;.[p. uhkre;jpud;  e. tpil njhpatpy;iy 

 
52. Which of the following are incorrectly paired? 

1. SIPA - South Indian People's Association 
2. SILF - South Indian Legal Federation 
3. AMS - Andhra Mahasabha 
4. MPA - Madras Presidency Assembly 
a. 1 and 2 are incorrect  b. 2 and 3 are incorrect c. 2 and 4 are incorrect 

d. 1 and 4 are incorrect  e. Answer not known 
gpd;tUtdtw;Ws; rhpahf nghUj;jg;glhjij $Wf. 
1. SIPA - njd;dpe;jpa kf;fs; rq;fk; 
2. SILF - njd;dpe;jpa rl;l $l;likg;G 
3. AMS - Me;jpuh kfh rig 
4. MPA - kjuh]; khfhz rl;lrig 
a. 1 kw;Wk; 2k; jtW  b. 2 kw;Wk; 3k; jtW c. 2 kw;Wk; 4k; jtW 
d. 1 kw;Wk; 4k; jtW  e. tpil njhpatpy;iy 

 
53. Match the following 

A. Vaithiyanatha Iyer  1. Madurai Harvey Industry strike 
B. Rukmani Lakshmipathi  2. Lion of Andhra 
C. Prakasam    3. Deputy speaker 
D. Vartharajulu Naidu  4. Temple Entry 
 A B C D 
a. 1 3 4 2 
b. 2 4 1 3 
c. 4 3 2 1 
d. 3 2 4 1 
e. Answer not known 
fPo;fz;ltw;iw nghUj;Jf 
A. itj;jpaehj ma;ah;  1. kJiu `hh;tp njhopw; rq;f Ntiy epWj;jk; 
B. Uf;kzp nyl;Rkpgjp  2. Me;jpuf; Nfrhp 
C. gpufhrk;    3. Jiz rghehafh; 
D. tujuh[Y ehAL   4. Mya EioT 
 A B C D 
a. 1 3 4 2 
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b. 2 4 1 3 
c. 4 3 2 1 
d. 3 2 4 1 
e. tpil njhpatpy;iy 

 
54. What was the impact of Zamindari Abolition Act of 1951? 

a. Success for land reforms  
b. Its measures would improve the efficiency of land use 
c. Empowering the status of peasants 
d. Tenants and sharecroppers gained ownership of 62 lakh hectares of land 
e. Answer not known 
1951 Mk; Mz;L [kPd;jhh; xopg;G Kiw rl;lj;jpd; tpisT ahJ? 
a. epy rPh;jpUj;jq;fspy; ntw;wp 
b. mjd; eltbf;iffs; epy gad;ghl;bd; nray; jpwid Nkk;gLj;Jk; 
c. tptrhapfspd; epiyia Nkk;gLj;JfpwJ 
d. Fj;jifjhuh;fs; kw;Wk; gq;Fjhuh;fs; 62 yl;rk; n`f;Nlh; epyj;jpd; chpikiag; 

ngw;wdh;. 
e. tpil njhpatpy;iy 

 
55. Which social activist is said to have had link with Irish Revolutionaries? 

a. Annie Besant   b. Colonel Alcott  c. Margaret Noble 

d. Helena Blavatsky   e. Answer not known 
ve;j r%fr; nraw;ghl;lhsh; Ihp~; Gul;rpahsh;fSld; njhlh;G nfhz;bUe;jhh; vd;W 
nrhy;yg;gLfpwJ? 
a. md;dp ngrd;l;   b. fNyhdy; My;fhl; c. khh;fnul; Nehgps; 
d. n`ydh gpstl;];fp  e. tpil njhpatpy;iy 

 
56. Which of the following are true about Velu Thambi? 

(i) Thambi had planned a secret attack with the native people 
(ii) He was a Tahsildar incharge of a Southern Travancore tract 
(iii) He worked closely with the British Government 
a. (iii) only   b. (i) only   c. (ii) only 

d. (i) and (ii) only  e. Answer not known 
,itfspy; NtY jk;gpiag; gw;wpa rhpahd $w;iw vOJ. 
(i) ,th; G+h;tPf kf;fisAk; Nrh;j;J ,ufrpa jhf;Fjiy elj;j jpl;lkpl;lhh; 
(ii) ,th; njw;F jpUtpjhq;$h; gFjpf;F jhrpy;jhuhf ,Ue;jhh; 
(iii) ,th; gphpl;b~; murhq;fj;Jld; neUf;fkhf gzpahw;wpdhh; 
a. (iii) kl;Lk;   b. (i) kl;Lk;   c. (ii) kl;Lk; 
d. (i) kw;Wk; (ii) kl;Lk; e. tpil njhpatpy;iy 

 
57. Assertion [A]: Dantaka forest was the birth place of cotton plant. 

Reason [R] :  Neolithic man learnt to spin the cotton fibre into thread and weave 
    the thread into cotton cloth. 
a.  [A] is true but [R] is false 
b. Both [A] and [R] are true and [R] is the correct explanation of [A] 
c. [A] is false, [R] is true 
d. Both [A] and [R] are true but [R] is not the correct explanation of [A] 
e. Answer not known 
typAWj;jy; [A]: gUj;jpr; nrbapd; gpwg;gplk; jz;lfh fhL. 
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fhuzk; [R]:  Gjpa fw;fhy kdpjd; gUj;jp ,ioia E}yhf Row;wTk;> E}iy 
    gUj;jp Jzpapy; nerT nra;aTk; fw;Wf; nfhz;lhd;. 
a. [A] rhp Mdhy; [R] jtW 
b. [A] kw;Wk; [R] ,uz;Lk; rhp [R] [A] tpw;F rhpahd tpsf;fk; 
c. [A] jtW [R] rhp 
d. [A] kw;Wk; [R] ,uz;Lk; rhp Mdhy; [R] [A] tpw;F rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy 

 
58. Which of these items were shipped to King Solomon from Tamil Nadu in the loth 

Century BC? 
a. Peacock feather, rice, ginger  b. Peacock feather, elephant ivory, perfumes 
c. Ginger, Tippili, Perfumes  d. Ginger, Tippili, Ric 
e. Answer not known 
fp.K. gj;jhk; E}w;whz;bd; murdhfpa rhykDf;Fj; jkpo;ehl;Lf; fg;gy;fs; thapyhff; 
nfhz;L nry;yg;gl;l nghUl;fs; vit? 
a. kapy; Njhif> mhprp> ,Q;rp  
b. kapy; Njhif> ahidj; je;jk;> thridg; nghUl;fs; 
c. ,Q;rp> jpg;gpyp> thridg; nghUl;fs; 
d. ,Q;rp> jpg;gpyp> mhprp 
e. tpil njhpatpy;iy 

 
59. " ............ in the household reign, 

This is of life the perfect grace and gain''. 
Which of the two graces are mentioned as necessary for a successful marital life in the 
above Thirukkural? 
a. Virtue and wealth  b. Attribute and use  c. Love and affection 

d. Gold and wealth   e. Answer not known 
“…. cilj;jhapd; ,y;tho;f;if 
gz;Gk; gaDk; mJ” 
Nkw;fhZk; jpUf;Fwspy; vit ,uz;ilj; jpUts;Sth; ,y;tho;f;iff;F cfe;jJ vdf; 
Fwpg;gpLfpwhh;? 
a. mwKk; nghUSk;   b. gz;Gk; gaDk;  c. md;Gk; mwDk; 
d. nghd;Dk; nghUSk;  e. tpil njhpatpy;iy 

 
60. Thiruvalluvar's political, economic, social thought treasures are found in which of the 

following parts of Thirukkural? 
a. Aarathupal (Virtue) b. Porutpal (Wealth) c. Kamathupal (Nature of love) 
d. All of the above three e. Answer not known 
ts;Sthpd; murpay;> nghUshjhu> rKjhar; rpe;jidfspd; fsQ;rpakhf mikAk; 
jpUf;Fwspd; nghUj;jkhd gphpthf vijf; $wyhk;? 
a. mwj;Jg;ghy;  b. nghUl;ghy;  c. fhkj;Jg;ghy; 
d. Nkw;fz;l %d;Wk; e. tpil njhpatpy;iy 

 
61. Choose the correct answer: 

1. Kadavul Vazhthu, Van Sirappu, Neethaar Perumai, Aran Valiyurathal – all four parts 
(Adhigarams) are called as Payiram. 

2. In Invocation, the word ‘Kadavul’ takes place in three places. 
3. In part, ‘Van Sirappu’, the word ‘Varuna Devan’ does not take place. 
4. According to Valluvar, Being pure at heart is virtue. 
a. 1, 2 and 3 are correct    b. 1, 3 and 4 are correct 
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c. 1, 2 and 4 are correct    d. 2, 3 and 4 are correct 
e. Answer not known 
fPo;f;fhZk; $w;Wfspy; rhpahd tpiliaj; Njh;e;njLf;fTk;: 
1. flTs; tho;j;J> thd;rpwg;G> ePj;jhh; ngUik> mwd; typAWj;jy; vd;w ehd;F 

mjpfhuq;fSk; ghapuk; vd miof;fg;gLk;. 
2. jpUf;Fws; flTs; tho;j;jpy;> flTs; vd;w nrhy; %d;W Fws;fspy; tUfpwJ. 
3. thd; rpwg;G vd;w mjpfhuj;jpy; tUzNjtd; vd;w nrhy; tutpy;iy. 
4. kdj;jpy; Fw;wkpy;yhky; ,Ug;gNj mwk; vd;fpwhh; ts;Sth;. 
a. 1> 2> 3 rhp   b. 1> 3> 4 rhp   c. 1> 2> 4 rhp 
d. 3> 3> 4 rhp   e. tpil njhpatpy;iy 

 
62. Which literature is considered as the first field research of Tamil? 

1. Periyapuranam 
2. Thiruvasagam 
3. Thirumanthiram 
4. Thirupallaandu 
a. 1 alone is correct   b. 2 alone is correct  c. 3 alone is correct 
d. None of the above is correct e. Answer not known 
jkpopd; Kjy; fs Ma;T E}yhff; fUjg;gLtJ vJ? 
1. nghpaGuhzk; 
2. jpUthrfk; 
3. jpUke;jpuk; 
4. jpUg;gy;yhz;L 
a. 1 kl;Lk; rhp   b. 2 kl;Lk; rhp  c. 3 kl;Lk; rhp 
d. vJTk; rhpapy;iy  e. tpil njhpatpy;iy 
 

63. Identify the authors with their books: 
Author    Book 
A. Chandilyan   1. Kadal Sonna Kathai 
B. Vannanilavan   2. Aazhisool Ulagam 
C. Joe D’Cruz   3. Kadal Pura 
D. Vareethiah Konstantine  4. Kadal Purathil 
 A B C D 
a. 3 4 2 1 
b. 4 3 2 1 
c. 2 1 3 4 
d. 1 4 2 3 
e. Answer not known 
rhpahd Mrphpah;> E}y; ,izitf; fz;lwpe;J nghUj;Jf: 
Mrhpah;    E}y; 
A. rhz;by;ad;   1. fly; nrhd;d fij 
B. tz;zepytd;   2. Mop#o; cyF 
C. N[h b FU];   3. fly; Gwh 
D. twPijah fhd;];je;j;  4. fly; Guj;jpy; 
 A B C D 
a. 3 4 2 1 
b. 4 3 2 1 
c. 2 1 3 4 
d. 1 4 2 3 
e. tpil njhpatpy;iy 
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64. Identify the wrong statement about Mudumozhi Kaanchi stated below: 
a. ‘Mudhumozhi’ means ‘Pazhamozhi’, Kanchi means ‘Nilaiyamai’. This shows 

Nilayamai (uncertainity) 
b. Mudhumozhi Kanchi was written by Koodalur Kizhar 
c. There poems are from ‘Ammai enum Vanappu’ mentioned by Tholkappiar 
d. Mudhumozhi Kanchi is considered to be the forerunner of the book Aathichoodi 
e. Answer not known 
fPo;f;fhZk; $w;Wfspy; KJnkhopf; fhQ;rp Fwpj;j nra;jpfspy; xU nra;jp jtwhdij 
vLj;J vOJf. 
a. KJnkhop vd;why; gonkhop> fhQ;rp vd;why; epiyahik. ,J gonkhopapy; 

epiyahikiaf; $WfpwJ. 
b. ,ij vOjpath; $lY}h;f; fpohh; 
c. njhy;fhg;gpah; $Wk; mk;ik vd;Dk; tdg;gpy; ,g;ghly;fs; mlq;Fk; 
d. Mj;jp#b E}y;fSf;F Kd;Ndhb KJnkhopf; fhQ;rp 
e. tpil njhpatpy;iy 

 
65. The ancient Rock Paintings found at the places of 

(i) Mallapadi 
(ii) Peru Mukkal 
(iii) Paiyampalli 
(iv) Siru Malai 
a. (i), (ii) only    b. (ii), (iii) only  c. (iii), (iv) only 
d. All the above   e. Answer not known 
gz;ila ghiw Xtpaq;fs; fpilf;Fk; ,lq;fs; 
(i) ky;yg; ghb 
(ii) ngU Kf;fy; 
(iii) igak;gs;sp 
(iv) rpW kiy 
a. (i), (ii) kl;Lk;  b. (ii), (iii) kl;Lk;  c. (iii), (iv) kl;Lk; 
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 
66. ‘Operation Blackboard' was implemented in India to provide basic amenities in 

education in ____ schools. 
a. Primary   b. Middle   c. Higher Secondary 
d. Rural   e. Answer not known 
,e;jpahtpy;> _____ gs;spfspd; mbg;gilf; fy;tpj; Njitiag; G+h;j;jp nra;tjw;fhf 
‘fUk;gyifj; jpl;lk;’ nray;gLj;jg;gl;lJ. 
a. Muk;gg;   b. eLepiyg;   c. Nky;epiyg; 
d. fpuhkg;Gwg;   e. tpil njhpatpy;iy 

 
67. Match the following: 

Scheme      Marriage Assistance 
A. Dr. Dharmambal Ammaiyar   1. for Intercaste marriage 
B. EVR Maniammaiyar Ninaivu   2. for orphan girls 
C. Dr. Muthulakshmi (Reddy) Ninaivu  3. for daughters of poor widows 
D. Annai Therasa Ninaivu    4. for widow remarriage 
 A B C D 
a. 3 4 1 2 
b. 4 3 1 2 
c. 4 3 2 1 
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d. 1 2 3 4 
e. Answer not known 
nghUj;Jf: 
jpl;lk;       jpUkz cjtp 
A. lhf;lh; jh;khk;ghs; mk;ikahh;   1. fyg;G jpUkzk; 
B. EVR kzpak;ikahh; epidT   2. mdhij ngz;fs; 
C. lhf;lh;. Kj;Jnyl;Rkp (nul;b) epidT  3. Vio tpjit jhapd; ngz;fs; 
D. md;id njurh epidT    4. tpjit kWkzk; 
 A B C D 
a. 3 4 1 2 
b. 4 3 1 2 
c. 4 3 2 1 
d. 1 2 3 4 
e. tpil njhpatpy;iy 

 
68. Indian Constitution does not define OBC, but makes a reference, identify the article 

a. Article 16(4)  b. Article 17   c. Article 18(A) 
d. Article 344   e. Answer not known 
,e;jpa murpayikg;G gpw;gLj;jg;gl;l tFg;Gfis tiuaWf;ftpy;iy> Mdhy; xU Fwpg;ig 
nra;fpwJ> me;j gphpit milahsk; fhzTk; 
a. gphpT 16(4)   b. gphpT 17   c. gphpT 18(A) 
d. gphpT 344   e. tpil njhpatpy;iy 

 
69. Tamil Nadu State Human Development Report 2017, in this District level low income 

districts like 
a. Kancheepuram   b. Ariyalur   c. Chennai 
d. Chennai    e. Answer not known 
jkpo;ehL khepy kdpj Nkk;ghl;L mwpf;if 2017apy; khtl;l thhpahf tWik kw;Wk; 
tUtha; epiyapy; fPo; ,Uf;Fk;. 
a. fhQ;rpGuk;    b. mhpaY}h;   c. nrd;id 
d. flY}h;    e. tpil njhpatpy;iy 
 

70. What is the purpose of introduction of `Makkal Portal' in Tamil Nadu? 
a. Alternate to AADHAAR 
b. To maintain government employees data base in digital form 
c. Manage Complete State Level Resident Data in a digital form 
d. Alternate to NPR 
e. Answer not known 
jkpofj;jpy; mwpKfg;gLj;jg;gl;Ls;s kf;fs; Nghh;lypd; Nehf;fk; ahJ? 
a. MjhUf;F khw;W 
b. muR Copah;fspd; tptuq;fis kpd;dZ Kiwapy; guhkhpj;jy; 
c. khepy mstpyhd KOikahd FbapUg;Nghh; juTfis kpd;dZ Kiwapy; eph;tfpj;jy; 
d. NPR f;F khw;W 
e. tpil njhpatpy;iy 

 
71. In Tamil Nadu the largest area of land is used for the cultivation of 

a. Sugarcane   b. Paddy   c. Groudnut 
d. Coconut   e. Answer not known 
jkpofj;jpy; ve;j gaph; cw;gj;jpf;fhf kpf mjpfsT epyg;gug;G gad;gLj;jg;gLfpwJ? 
a. fUk;G   b. ney;    c. epyf;fliy 
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d. Njq;fha;   e. tpil njhpatpy;iy 
 
72. STEP denotes support to Training -cum - _____ for women. 

a. Education    b. Employment  c. Empowerment 
d. Entrepreneurship   e. Answer not known 
STEP vd;gJ> ngz;fSf;Fg; gapw;rp kw;Wk; _____ f;fhd Mjuitf; Fwpf;fpwJ. 
a. fy;tp    b. Ntiytha;g;G  c. Mw;wy;gLj;Jjy; 
d. njhopy;KidNthh; jpwd;  e. tpil njhpatpy;iy 
 

73. Match the following: 
List I      List II 
A. Beti Bachao, Beti Padhao 1. Prevention of Trafficking 
B. RGSEAG    2. Improving sex ratio and ensuring girls education 
C. IGMSY    3. All round development of adolescent girls 
D. Ujjawala    4. Cash incentives for pregnant and lactating women 
 A B C D 
a. 2 1 4 3 
b. 2 3 1 4 
c. 2 3 4 1 
d. 3 2 4 1 
e. Answer not known 
nghUj;Jf: 
ml;ltiz I     ml;ltiz II 
A. Ngl;b gr;rhNth> Ngl;b gjhNth  1. ,op tzpf njhlh;G jLg;G 
B. RGSEAG     2. ghypd tpfpj Kd;Ndw;wk; kw;Wk; ngz; fy;tp 
       cWjpgLj;jy; 
C. IGMSY     3. tsh; ,sk; gUt ngz;fspd; xl;Lnkhj;j 
       Kd;Ndw;wk; 
D. c[hthyh     4. fUTw;w kw;Wk; ghY}l;Lk; ngz;fSf;F gz 
       cjtp 
 A B C D 
a. 2 1 4 3 
b. 2 3 1 4 
c. 2 3 4 1 
d. 3 2 4 1 
e. tpil njhpatpy;iy 
 

74. Who represented the Women's organisations of India at the second Round Table 
conference in 1931? 
a. Sarojini Naidu   b. Muthulakshmi Reddy  c. Annie Besant 
d. Vijayalakshmi pandit  e. Answer not known 
1931apy; ele;j ,uz;lhk; tl;lNkir khehl;by; ,e;jpahtpd; ngz;fs; mikg;Gfspd; 
gpujpepj ahh;? 
a. rNuh[pdp ehAL   b. Kj;Jnyl;Rkp nul;b c. md;dp ngrd;l; 
d. tp[anyl;Rkp gz;bl;  e. tpil njhpatpy;iy 
 

75. Who advised education is necessary for women as it is for males through his educational 
philosophy, he also advised them not to marry at an early age and go for higher 
education? 
a. Dr. B.R. Ambedkar  b. Mahatma Gandhi  c. Jawaharlal Nehru 
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d. E.V.R Periyar   e. Answer not known 
Mz;LfSf;Ff; fy;tp mtrpak; vd;gJ Nghy; ngz;fSf;Fk; fy;tp mtrpak;. ngz;fs; 
rpW tajpNyNa jpUkzk; nra;J nfhs;shky; cah; fy;tpf;Fr; nry;y Ntz;Lk; vd;w 
Nfhl;ghl;bd; topf; fy;tp ngWjiyf; Fwpj;J mwpTiu $wpath; ahh;? 
a. lhf;lh;. gp.Mh;. mk;Ngj;fh;  b. kfhj;kh fhe;jp  c. [t`h;yhy; NeU 
d. <.nt.uh nghpahh;   e. tpil njhpatpy;iy 

 
76. A works 3 times as fast as B and is able to complete a task in 24 days less than the days 

taken by 8. Find the number of days in which they can complete the work together? 
a. 6 days   b. 7 days   c. 8 days 
d. 9 days   e. Answer not known 
A Mdth; B vd;gtiuf; fhl;bYk; Ntiy nra;tjpy; 3 klq;F Ntfkhdth; mtuhy; me;j 
Ntiyia B vLj;Jf;nfhz;l Neuj;ijtpl 24 ehl;fs; Fiwthf vLj;J Kbf;f KbfpwJ. 
,UtUk; Nrh;e;J me;j Ntiyia Kbf;f MFk; ehl;fisf; fhz;f. 
a. 6 ehl;fs;   b. 7 ehl;fs;   c. 8 ehl;fs; 
d. 9 ehl;fs;   e. tpil njhpatpy;iy 
 

77. In the year 2015 ticket to the world cup cricket match was E 1500. This year the price has 
been increased by 18%. What is the price of a ticket this year? 
a. Rs. 1580   b. Rs. 1700   c. Rs. 1770 

d. Rs. 1800   e. Answer not known 
2015 cyf Nfhg;ig fphpf;nfl; tpisahl;Lg; Nghl;bapd; EioTr; rPl;bd; tpiy &. 1500. 
,e;j Mz;L mjd; tpiy 18% mjpfhpj;jhy; ,e;j Mz;L EioTr; rPl;bd; tpiy vt;tsT? 
a. Rs. 1580   b. Rs. 1700   c. Rs. 1770 
d. Rs. 1800   e. tpil njhpatpy;iy 
 

78. If 13 + 23 + 33 + . . . + K3 = 44100 then find 1 + 2 + 3 + . . . + K . 
a. 210  b. 2210 c. 2100  d. 441  e. Answer not known 
13 + 23 + 33 + . . . + K3 = 44100 vdpy; 1 + 2 + 3 + . . . + K d; kjpg;G fhz;f. 
a. 210  b. 2210 c. 2100  d. 441  e. tpil njhpatpy;iy 
 

79. What is the next number of this sequence 
V, X, XX, XL ______. 
a. LX  b. LXX c. LXXX d. XC  e. Answer not known 
gpd;tUk; njhlh;thpirapy; mLj;JtUk; vz; ahJ? 
V, X, XX, XL ______. 
a. LX  b. LXX c. LXXX d. XC  e. tpil njhpatpy;iy 
 

80. The sum of two numbers is 36 and one number exceeds another by 8. Then find the 
smallest number. 
a. 14  b. 16  c. 18  d. 20  e. Answer not known 
,uz;L vz;fspd; $Ljy; 36. NkYk; mtw;Ws; Xh; vz;> kw;Nwhh; vz;iz tpl 8 mjpfk; 
vdpy; me;j vz;fspy; rpwpa vz; fhz;f. 
a. 14  b. 16  c. 18  d. 20  e. tpil njhpatpy;iy 
 

81. The number of 3 digit numbers that are divisible by 2 but not divisible by 4. 
a. 200  b. 225  c. 250  d. 450  e. Answer not known 
,uz;lhy; tFgLk; Mdhy; 4 My; tFglhj %d;W ,yf;f vz;fspd; vz;zpf;if vd;d? 
a. 200  b. 225  c. 250  d. 450  e. tpil njhpatpy;iy 
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82. If LAMBIC is written as 835764 and DIAMOND is written as 2635092, then BLIND is 
written as 
a. 7 8 6 9 2  b. 7 8 6 2 9 c. 7 8 9 6 2 d. 7 8 9 2 6 e. Answer not known 
LAMBIC vd;gij 835764 vdTk; kw;Wk; DIAMOND vd;gij 2635092 vdTk; FwpaPl;lhy; 
Fwpf;fg;gl;lhy; BLIND vd;gJ Fwpf;fg;gLk; tpjk; 
a. 7 8 6 9 2  b. 7 8 6 2 9 c. 7 8 9 6 2 d. 7 8 9 2 6 e. tpil njhpatpy;iy 
 

83. + stands for  , - stands for  ,  stands for +,  stands for -then value of 12 -3 + 5  20 is 
a. 40  b. 100  c. 29  d. 39  e. Answer not known 

+ vd;gJ , - vd;gJ ,  vd;gJ +,  vd;gJ - Fwpj;jhy;> 12 -3 + 5  20 -d; kjpg;G 
a. 40  b. 100  c. 29  d. 39  e. tpil njhpatpy;iy 
 

84. Find two consecutive natural numbers whose sum is 75 
a. 35, 40 b. 36, 39 c. 37, 38 d. 38, 39 e. Answer not known 
mLj;jLj;j ,U ,ay; vz;fspd; $Ljy; 75 vdpy; mt;tpU vz;fisf; fhz;f. 
a. 35, 40 b. 36, 39 c. 37, 38 d. 38, 39 e. tpil njhpatpy;iy 
 

85. Amutha can weave a saree in 18 days. Anjali is twice as good a weaver as Amutha. If 
both of them weave together, in how many days can they complete weaving the saree? 
a. 6 days   b. 9 days   c. 12 days 
d. 24 days   e. Answer not known 
mKjh> xU Nriyia 18 ehl;fspy; nea;thh;. mQ;ryp> mKjhit tpl nea;tjpy; ,U 
klq;F jpwikrhyp. ,UtUk; ,ize;J nea;jhy;> me;jr; Nriyia vj;jid ehl;fspy; 
nea;J Kbg;ghh;? 
a. 6 ehl;fs;   b. 9 ehl;fs;   c. 12 ehl;fs; 
d. 24 ehl;fs;   e. tpil njhpatpy;iy 
 

86. Two taps A and 8 can fill a cistern is 18 minutes and 24 minutes respectively. If both taps 
are opened together, when the tap 8 must be turned off so that the cistern is filled in 12 
minutes? 
a. 2 minutes   b. 4 minutes   c. 6 minutes 
d. 8 minutes   e. Answer not known 
A kw;Wk; B vd;w ,U Foha;fs; jz;zPh; njhl;bia KiwNa 18 kw;Wk; 24 epkplq;fspy; 
ePh; epug;Gk;. ,U Foha;fisAk; xNu Neuj;jpy; jpwe;J tpl;l gpd;> jz;zPh; njhl;b 12 
epkplq;fspy; KOikahf epuk;g Ntz;Lnkdpy; Foha; B ia vj;jid epkplj;jpy; 
milf;fg;gl Ntz;Lk;? 
a. 2 epkplq;fspy;  b. 4 epkplq;fspy;  c. 6 epkplq;fspy; 
d. 8 epkplq;fspy;  e. tpil njhpatpy;iy 
 

87. The volume of a cylinder is 448 cm3 and height 7 cm. Calculate its curved surface area. 
a. 342 cm2 b. 352 cm2 c. 362 cm2 d. 372 cm2 e. Answer not known 

xU cUisapd; fd msT 448 nr.kP3 kw;Wk; cauk; 7 nr.kP vdpy; cUisapd; tisgug;G 
fhz;f. 
a. 342 nr.kP2 b. 352 nr.kP2 c. 362 nr.kP2 d. 372 nr.kP2 e. tpil njhpatpy;iy 
 

88. An industrial metallic bucket is in the shape of the frustum of a right circular cone whose 
top and bottom diameters are 10 in and 4 in and whose height is 4 in then outer C.S.A. of 
bucket is 
a. 100m2 b. 110 m2 c. 120 m2 d. 220 m2 e. Answer not known 
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xU njhopw;rhiy cNyhf thsp> $k;gpd; ,ilf;fz;l tbtpy; cs;sJ. mjd; Nkw;Gw 
kw;Wk; mbg;Gw tpl;lq;fs; KiwNa 10kP kw;Wk; 4kP MFk;. mjd; cauk; 4kP vdpy; ,ilf; 
fz;lj;jpd; tisgug;G 
a. 100m2 b. 110 m2 c. 120 m2 d. 220 m2 e. tpil njhpatpy;iy 
 

89. The difference between compound interest and simple interest on a sum for 2 years at 
8% is Rs.768. Find the sum. 
a. Rs. 1,00,000  b. 1,10,000   c. 1, 20,000 
d. Rs. 1,70,000  e. Answer not known 
8% tl;b tPjk; xU njhifapd; 2 Mz;bw;fhd jdptl;b> $l;Ltl;b ,tw;wpd; NtWghL &. 
768> mj;njhifia fhz;. 
a. Rs. 1,00,000  b. 1,10,000   c. 1, 20,000 
d. Rs. 1,70,000  e. tpil njhpatpy;iy 
 

90. In a certain time a sum of Rs.1,25,000 amounted to Rs.1,48,877 at the rate of 6% p.a. 
compounded annually. 
a. 2years   b. 3 years   c. 4years 
d. 5years   e. Answer not known 
xU Fwpg;gpl;l fhyj;jpy; $l;L tl;bapy; &. 1>25>000 MdJ &. 1>48>877 Mf 6% Mz;L 
tl;b tPjj;jpy; fpilf;fpwJ. vdpy; mjw;F MFk; fhyk;. 
a. 2 tUlq;fs;  b. 3 tUlq;fs;  c. 4 tUlq;fs; 
d. 5 tUlq;fs;  e. tpil njhpatpy;iy 
 

91. Aravind borrowed a sum of Rs. 8,000 from Akash at 7% per annum. Find the interest and 
amount to be paid at the end of two years. 
a. Rs. 1120, Rs. 9,120 b. Rs.1020, Rs. 9,020  c. Rs.1,000, Rs. 9,000 
d. Rs. 920, Rs. 8,920  e. Answer not known 
mutpe;J vd;gth; &. 8>000 I Mfh~; vd;gthplkpUe;J 7% jdp tl;b tpjj;jpy; fldhfg; 
ngw;whh;. mth; ,uz;L Mz;Lfspd; Kbtpy; jpUg;gpr; nrYj;j Ntz;ba tl;biaAk;> 
njhifiaAk; fhz;f. 
a. &. 1120> &. 9>120  b. &. 1020> &. 9>020  c. &. 1>000 &. 9>000 
d. &. 920> &. 8>920  e. tpil njhpatpy;iy 
 

92. In a simple interest, a sum of money amounts to Rs. 6,200 in 2 years and Rs. 6,800 in 3 
years. Find the principal. 
a. Rs. 5,000   b. Rs. 5,800   c. Rs. 5,400 
d. Rs. 4,800   e. Answer not known 
xU njhif xU Fwpg;gpl;l jdptl;b tPjj;jpy; 2 Mz;Lfspy; &. 6>200 vdTk;> 3 
Mz;Lfspy; &. 6>800 vdTk; cah;fpwJ vdpy; me;jj; njhifia fhz;f. 
a. &. 5>000   b. &. 5>800   c. &. 5>400 
d. &. 4>800   e. tpil njhpatpy;iy 
 

93. An aircraft can accommodate 280 people in 2 trips. It can take _____ trips to take 1400 
people. 
a. 8  b. 10  c. 9  d. 12  e. Answer not known 
280 egh;fs; xU tpkhdj;jpy; 2 Kiw gazk; nra;fpd;wdh; vdpy; mt;tpkhdj;jpy; 1400 
egh;fs; _____ Kiw gazk; nra;ayhk;. 
a. 8  b. 10  c. 9  d. 12  e. tpil njhpatpy;iy 
 

94. A heater uses 3 units of electricity in 40 minutes. How many units does it consume in 2 
hours? 
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a. 80/3 b. 3/20 c. 60  d. 9  e. Answer not known 
xU #Nlw;wp 40 epkplq;fspy; 3 myFfs; kpd;rhuj;ijg; gad;gLj;JfpwJ. ,uz;L kzp 
Neuj;jpy; vj;jid myFfs; kpd;rhuj;ij mJ gad;gLj;Jk;? 
a. 80/3 b. 3/20 c. 60  d. 9  e. tpil njhpatpy;iy 
 

95. L.C.M of t2 -13t + 42, t2 -36, (t -7)3 is _____. 
a. (t - 6)(t + 6)(t - 7)   b. (t - 6)(t + 6)(t - 7)2  c. (t - 6)(t + 6)(t - 7)3 

d. (t - 6)(t + 6)(t - 7)4   e. Answer not known 
t2 -13t + 42, t2 -36, (t -7)3 d; kP.rp.k _____ MFk;. 
a. (t - 6)(t + 6)(t - 7)   b. (t - 6)(t + 6)(t - 7)2  c. (t - 6)(t + 6)(t - 7)3 
d. (t - 6)(t + 6)(t - 7)4   e. tpil njhpatpy;iy 
 

96. What is the greatest possible volume of a vessel that can be used to measure exactly the 
volume of milks in cans (in full capacity) of 100 litres, 120 litres and 1601itres? 
a. 10  b. 20  c. 40  d. 4800 e. Answer not known 
KOtJkhf epug;gg;gl;Ls;s 100 ypl;lh;> 120 ypl;lh;> 160 ypl;lh; nfhs;ssT cs;s 
fyd;fspy; ghypidr; rhpahf msf;ff; $ba ghjj;jpuj;jpd; mjpfgl;r nfhs;ssT vd;d? 
a. 10  b. 20  c. 40  d. 4800 e. tpil njhpatpy;iy 
 

97. The LCM of two numbers is 630 and their HCF is 9. If the sum of the numbers is 153, their 
difference is 
a. 17  b. 23  c. 27  d.  33  e. Answer not known 
,U vz;fspd; kP.rp.k 630 kw;Wk; kP.ngh.t 9. NkYk; me;j vz;fspd; $Ljy; 153 vdpy; 
mtw;wpd; tpj;jpahrk; 
a. 17  b. 23  c. 27  d.  33  e. tpil njhpatpy;iy 
 

98. The Highest Common Factor (HCF) of two numbers is 2 and their Lowest Common 
Multiple (LCM) is 154. If the difference between the numbers is 8, then the sum is 
a. 26  b. 36  c. 46  d. 56  e. Answer not known 
,U vz;fspd; kPg;ngU nghJfhuzp 2 kw;Wk; kPr;rpW nghJ klq;F 154. mt;tpU 
vz;fSf;fpilNa cs;s NtWghL 8 vdpy;> mtw;wpd; $Ljy; 
a. 26  b. 36  c. 46  d. 56  e. tpil njhpatpy;iy 
 

99. Kavin scored 15 out of 25 in a test. The percentage of his marks is 

a. 60%  b. 15%  c. 25%  d. 
15

25
  e. Answer not known 

ftpd; 25 f;F 15 kjpg;ngz;fs; ngw;why; mjd; rjtPjk; 

a. 60%  b. 15%  c. 25%  d. 
15

25
  e. tpil njhpatpy;iy 

 
100. Each day the workers drill down 22 feet further until they hit a pool of water. If the water 

is at 110 feet, on which day they will hit the pool of water? 
a. 2 days   b. 3 days   c. 4 days 
d. 5 days   e. Answer not known 
Mo;Jisf; fpzW Njhz;Lk; Ntiyahl;fs;> xU ehspy; 22 mbfs; JisapLfpwhh;fs; 
vdpy;> 110 mbfs; Moj;jpYs;s ePNuhl;lj;ij mila vj;jid ehl;fs; MFk;? 
a. 2 ehl;fs;   b. 3 ehl;fs;   c. 4 ehl;fs; 
d. 5 ehl;fs;   e. tpil njhpatpy;iy 

 


